| FiGure 3-8

We can use the method of
and divide by A to determi

6 = arctan(4/8) = 26.6°.

From the equilibrium equati

In Fig. (a) we draw the free-bod

Joints to determine the

axial force in each member
ne the normal stress. .

y diagram of Joint B of the truss, The angle

(a) Joint B.
ons

EFX = _'PBC 7= PBD cosf = 0,

ZF_,. = —Pgpsing —mg =0,

we obtain Py — 2mg,
the axial forces:

Member: pc BD

Axial force: 2mg —2.24mg

Substituting the values m = 3400 kg
400 x 1076 m2, the stresses are

Pgp = =2.24mg. Continuing in this way, we obtain

ch CE" i obE
—1.33mg 2.40mg —2mg

and g =9.81 m/s? and dividing by A —

Member: Bc BD ch CE DE

11

Normal stress (MPa): 167 _ig¢ =111 200

—167
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